

Quotation

#51230 CHEHAB V40 - Spares

7 July 2017 Date 51230 Quotation Number

6 August 2017

Expiration Date

PR NAUTICA

PR Nautica Ltd. From

> Eastern Hangar, Lawrence Plymouth, Devon PL9 9SJ GB

То

Chehab Marine Ltd.

Chehab Marine Building, Charles Helou Street, Dora, Beirut High Way, Beirut LB

Task	Rate	Qty	Amount
Signal Horn	£0.00		£0.00
Floating Rope	£1.30	30	£39.00
To supply 8mm Floating Rope			
Mooring Ring	£6.80	1	£6.80
To supply a Stainless Steel 95mm Mooring Ring			
16mm Rope	£5.72	30	£171.60
To supply 3 strand 16mm Navy Blue rope			
Double Braided	£4.16	12	£49.92
To supply 14mm Double braided blue rope			

Anchor To supply a Delta 16 Kg anchor	£179.61	1	£179.61
Garmin ETREX 30	£0.00		£0.00
FLIR T470SC inc fitting with existing Raymarine equipment	£0.00		£0.00
Arimar soft line 270 tender or equivalent	£0.00		£0.00
Mercury 10hp outboard	£0.00		£0.00
Fender basket X 8 with connectors	£0.00		£0.00
Aft screen tarp modification to fit large see through plastic 6 mm window.	£0.00		£0.00
Cover for life buoy .	£0.00		£0.00
Lifebuoy To supply a 30″ Lifebuoy 2.5kg – MCA	£31.93	1	£31.93
Flashlight To supply a High Powered LED Search Light (Black)	£25.96	2	£51.92
Wood drain plug To supply a Small and Large Plug Set	£25.00	1	£25.00

Liferaft To supply a 8 person canister ISO9650-1 Liferaft Type 1, <24 Hour Pack	£1,657.49	1	£1,657.49
Epirb To supply a 3Si Guardian Cat1 GPS EPIRB	£747.63	1	£747.63
Adult Life jacket To supply a Kru Sport 185 Auto Life Jacket in Blue & Grey	£46.73	16	£747.68
Life Link Rescue System To supply a KIM – MOB Rescue Sling – Yellow	£85.28	1	£85.28
Handheld VHF To supply a ICOM M25 – Blue W/Proof Hand Held VHF	£134.06	1	£134.06
Hand Flare To supply an Ikaros Red Hand Held Flare – MCA	£10.76	1	£10.76
Orange Smoke To supply an Ikaros Red Parachute Rocket – MCA	£29.99	1	£29.99
Parachute Flare To supply an Ikaros Buoyant Smoke – MCA	£31.17	1	£31.17

Subtotal £3,999.84
Total £3,999.84

Terms

Please note our terms of business that apply, as per British Marine Federation Terms of Business Edition 15a.

Our full terms and conditions can be found at https://prnautica.com/terms-of-business/

	Pound Sterling (£)	Euro (€)	
Account Name:	PR Nautica Ltd.		
Account Number:	23222691	46975188	
Sort Code:	20-68-10	20-68-10	
IBAN:	GB73 BUKB 2068 1023 2226 91	GB94 BUKB 2068 1046 9751 88	
BIC:	BUKBGB22	BUKBGB22	

Registered in England 05692821, VAT No. 878 3861 63, EORI No. GB878386163000





